aspenh()me® ASSEMBLY INSTRUCTIONS

Distributed by Furniture Values International, LLC

ITEM NO: 1242-338  Open Base for Peninsula Desk

Thank you for purchasing this quality product. Be sure to check all packing material carefully for
small parts that may come loose inside the carton during shipment.

4 1242-338 ) TOOLS REQUIRED (NOT PROVIDED)

PHILLIPS SCREWDRIVER

HARDWARE LIST:

No.

Description

Sketch

Quantity

A

Allen Wrench 4mm

%

1PC

Save these instructions for future reference.

If you prefer to adjust the shelf
location, remove the screws and
move shelf brackets to the
desired location. Then secure the
brackets to shelf with screws.

- Leveler on legs

Adjust the leveler
when necessary

FOR INDOOR USE ONLY

BEFORE USING THIS PRODUCT PLEASE READ, UNDERSTAND, AND FOLLOW THESE INSTRUCTIONS.

Page 1/1 MADE IN VIETNAM

06-19-2019



aspenh()me® ASSEMBLY INSTRUCTIONS

Distributed by Furniture Values International, LLC

ITEM NO: 1242-339 1 Drawer Base

Thank you for purchasing this quality product. Be sure to check all packing material carefully for
small parts that may come loose inside the carton during shipment.

a 1242-339 ) TOOLS REQUIRED (NOT PROVIDED)

PHILLIPS SCREWDRIVER

- /

2 AC outlet Power Pack |
Felt-lined flip down drawer- - \
|
|
Adjustable wood shelf | /
If you prefer to adjust the shelf
location, remove the screws and
move shelf brackets to the
desired location. Then secure the
brackets to shelf with screws.
Leveleronlegs - _ g
Adjust the leveler
when necessary e e 4
~ Metalplate | Press here to release!
Hook 1atchi T '

| (

|
|
§ I
l
|
|
|

BEFORE USING THIS PRODUCT PLEASE READ, UNDERSTAND, AND FOLLOW THESE INSTRUCTIONS.
Save these instructions for future reference.

FOR INDOOR USE ONLY

Page 1/1 MADE IN VIETNAM 06-19-2019




aspenhome® ASSEMBLY INSTRUCTIONS

Distributed by Furniture Values International, LLC

ITEM NO: 1242-341 3 Drawer Base w/ File

small parts that may come loose inside the carton during shipment.

Thank you for purchasing this quality product. Be sure to check all packing material carefully for

4 1242-341 ) TOOLS REQUIRED (NOT PROVIDED)

PHILLIPS SCREWDRIVER

- /

FUNCTIONALITY INSTRUCTION

2 AC outlet Power Pack - — \ = =S

Felt-lined flip down drawer - — | ——— | B ) =
©
Dy @

©
File drawers hold letter or- —-| ©
legal size files
Heavy Duty Ball Bearing - —- ©
Slide ©

Leveleronlegs g

Adjust the leveler
when necessary

Metal plate | Press here to
vHook latchi ]
(

——————————————— o e

release]
ﬁ |

Save these instructions for future reference.
FOR INDOOR USE ONLY

BEFORE USING THIS PRODUCT PLEASE READ, UNDERSTAND, AND FOLLOW THESE INSTRUCTIONS.

|
|
I
l
|
|
|

Page 1/1 MADE IN VIETNAM

06-19-2019



aspenh()me® ASSEMBLY INSTRUCTIONS

Distributed by Furniture Values International, LLC

ITEM NO: 1242-344 Peninsula Desk

Thank you for purchasing this quality product. Be sure to check all packing material carefully for
small parts that may come loose inside the carton during shipment.

R TOOLS REQUIRED (NOT PROVIDED)
PHILLIPS SCREWDRIVER

g 1242-344

\_ %

HARDWARE LIST: COMPONENTS LIST:

No. Description Sketch | Quantity No. Description Sketch | Quantity
A |Bolt @1/4"x 1-1/2" 7 PCS 1 |Desk Top 1PC
B | Lock Washer @1/4" ) 7 PCS 2 | End Panel 1PC
C |Flat Washer @1/4" x 3/4" 7 PCS
D | Allen Wrench 4mm P 1PC
E | Wood Screw #8 x 1-1/2" g™ | 3 PCS

FUNCTIONALITY INSTRUCTION

-\ &

Flip down drawers -
on boths sides

End Panel

Adjust the leveler
when necessary

b————- Leveler on legs

BEFORE USING THIS PRODUCT PLEASE READ, UNDERSTAND, AND FOLLOW THESE INSTRUCTIONS.
Save these instructions for future reference.
FOR INDOOR USE ONLY

Page 1/2 MADE IN VIETNAM 07-02-2019




aspenhome® ASSEMBLY INSTRUCTIONS

Distributed by Furniture Values International, LLC

ITEM NO: 1242-344 Peninsula Desk

STEP 1: Put the desk top face down on a soft surface. Attach the end panel to the desk top by using 4 bolts(A),
lock washers(B) flat washers(C) .

End Panel

STEP 2: Remove the fake drawer front on the desk base of -338. Align the hole in the front rail of desk base with the
insert in the end brace of desk top.Attach the desk top with end panel to the desk base using 3 bolts(A), lock washers(B)
flat washers(C) and wood screws (E).

1242-344 1242-338

FOR INDOOR USE ONLY

Page 2/2 MADE IN VIETNAM 07-02-2019




aspenhome® ASSEMBLY INSTRUCTIONS

Distributed by Furniture Values International, LLC

ITEM NO: 1242-385DC Mod Center Open Hutch
1242-385L Mod LF Hutch w/ Doors
1242-385R Mod RF Hutch w/ Doors

Thank you for purchasing this quality product. Be sure to check all packing material carefully for
small parts that may come loose inside the carton during shipment.

UNIT SHOULD BE INSTALLED BY 2 OR MORE PERSONS.

\
1242-385L 1242-385DC  1242-385R TOOLS REQUIRED (NOT PROVIDED)
PHILLIPS SCREWDRIVER

COMPONENTS LIST: 1242-385L
No. Description Sketch | Quantity
1 |Case =] 1PC
2 |Door Glass 1PC
HARDWARE LIST: 1242-385L COMPONENTS LIST: 1242-385R
No. Description Sketch | Quantity No. Description Sketch | Quantity
A |Bolt @1/4" x 1-9/16" ) mmmmmm 16 PCS 1 |Case !3 1PC
B | Lock Washer @1/4" &S 16 PCS 2 |Door Glass 1PC
C |Flat Washer @1/4" x 3/4" 16 PCS
D |Allen Wrench 4mm ﬁ’ 1PC COMPONENTS LIST: 1242-385DC
E | Mounting Plate 2 PCS No. Description Sketch | Quantity
F | Wood Screw #8 x 3/4" g 4PCS 1 |Case B= 1PC
Only for option 2 2 |Back Panel J 1pPC
1242
r— _—__ 1
\ \
\ \ o
1242-385L | 2 s
\ g |-
\ < \
//////// 1 5 \
- 8 \
\ \
\ \
\ / \
L 7L N
Rubber Strip
If you prefer to use door glass, take off the
rubber strip and replace the wood panel with

i

door glass then re-insert the rubber strip.

BEFORE USING THIS PRODUCT PLEASE READ, UNDERSTAND, AND FOLLOW THESE INSTRUCTIONS.
Save these instructions for future reference.

FOR INDOOR USE ONLY

Page 1/4 MADE IN VIETNAM 12-17-2020




aspenhome® ASSEMBLY INSTRUCTIONS

Distributed by Furniture Values International, LLC

ITEM NO: 1242-385DC Mod Center Open Hutch
1242-385L Mod LF Hutch w/ Doors
1242-385R Mod RF Hutch w/ Doors

FOR OPTION 1: With Center Open Hutch

STEP 1. Put the case of center hutch upside down on a ’/
soft surface, Attach the back panel to the case by \
using 4 bolts(A), lock washers(B) and flat washers(C). !

= ==

A s
@B /|
\ /
\i@C/

N /

//,\\
/ FD \L
-

STEP 2: Attach the left hutch and right hutch -~ gC ™~

_--"BC
to the center hutch by using 12 bolts(A), lock ,p \\m\\ @/®/ j/
washers(B) and flat washers(C). Q=) Ly -

~ __ -

X = -0
&s =1 | MM T
lao il /
I
Right Hutch

S I
Left Hutch | 4 pm-0877 /

| e~ —
i / ~T< N
W - ~ N \
\ o)
- Ay ) /
Y

c 7/
STEP 3: Return the assembled hutch to A B g
the right side up position. Take off one o

screw from each mounting plate and

swing it to the proper location on the
other bookcase before re-securing it with
the screw.

Page 2/4 MADE IN VIETNAM 12-17-2020



@ aspenhome® ASSEMBLY INSTRUCTIONS

Distributed by Furniture Values International, LLC

ITEM NO: 1242-385DC
1242-385L
1242-385R

assembly desk.

\\

S eI
Metal Plate — - \
Shut pt
\//L

Wood Screw - — G
U C I

\\ =

FUNCTIONALITY INSTRUCTION

1242-341

Mod Center Open Hutch
Mod LF Hutch w/ Doors
Mod RF Hutch w/ Doors

STEP 4. Put the assembled hutch on the assembly desk. Take off one screw from each metal plate
on the back of hutch and swing it in an ideal place. Then re-secure the metal plate with screw to

Right Hutch

1242-385R

Left Hutch

If you prefer to adjust the shelf location,
remove the screws and move shelf
brackets to the desired location. Then
secure the brackets to shelf with screws.

Page 3/4

MADE IN VIETNAM

12-17-2020



aspenhome® ASSEMBLY INSTRUCTIONS

Distributed by Furniture Values International, LLC

ITEM NO: 1242-385DC
1242-385L
1242-385R

Mod Center Open Hutch
Mod LF Hutch w/ Doors
Mod RF Hutch w/ Doors

FOR OPTION 2: W/O Center Open Hutch

STEP 1: Put both left and right hutches upside down on a soft surface. Attach the left hutch
to right hutch by using 6 bolts (A), lock washers (B) and flat washers (C) after opening each
door.

STEP 2: Return the assembled hutch to
the right side up position. Attach the
mounting plates (E) to assembled hutch
as shown right by using 4 screws (F).

STEP 3: Put the assembled hutch on the assembly

desk. Take off one screw from each metal plate on
the back of hutch and swing it in an ideal place.
Then re-secure the metal plate with screw to : Left Hutch
Right Hutch
assembly desk.
Ve - j_\\\
Metal Plat SR
etal Plate e
r i ] K\« I
\ ::—_: z o
- a
Wood Screw ———— (177 /// o

Page 4/4 MADE IN VIETNAM

12-17-2020



	I242-338
	I242-339
	I242-341
	I242-344
	I242 HO for FD-VN Model (1)
	I242 HO for FD-VN Model (1)

	I242-385L-385DC-385R
	I242 HO for FD-VN Model (1)
	I242 HO for FD-VN Model (1)
	I242 HO for FD-VN Model (1)
	I242 HO for FD-VN Model (1)


